layn FEAR SR AR A TR A 7]

IE##1R8%: 002166 UEZRTEIRR: SR A A& 2021-063

EMREE MBS RBBRAA
ERBEERELREWRNLE

A7) RS R R R ORIEAS SR I A RS HERG . e, BOA R
WHL RSP B N

>

— BEESSWBHFER

HEMORE AR R AR AR (LR “an” ) RTHATAFHESE
S B - LR IR A1 T 2021 47 8 H 15 HLAHLIE ., 045 BRI T H &
FHBARR R, ST 2021 45 8 H 26 H 177 11: 00 7EREAR T IR HE XA I
P % o F DO 2 W s DI 7 A . SR A B IR 3 A\, SR A HE
H3IN, AFEEGE T W LW HEFESFRECUAE TR, S ETTE
Fre (ARE) R CARIERR) MELE, SWAETAER

= BEXSWENER

ZR IR, LR AT R, TR T

1. W3 ZRAR. 0 B3 0 EFNEHGED (A7 2021 SERFEFR
HEEXKWHE) FHRBWTFHZER:

2021 4 FARAFE, A wlE R R uE N SEBUEN SN 452,859,694.68 T,
AR K 61.36%, TR AR I, A FAEYFEION 550K K R
SEIVENHIN 42,837.32 TG, S AEGIFE IR 94.59%, B LA FIIIE K
74.69%, §FNEE ARG 32.51%. b, AR SRR TCHER RS E IR
B R K ISR T, SCBUE I 2.64 270, 52 FAE PSR S5 BN [
61.64% , B FAEFEIHEK 66.37%. Ak, AR SLELE IR R EL R
76,837,086.12 Ji, B LAEFIMIGK 23.07%; BTSN AA 51K
ARIESGK, g HSeBlE)E T B m R A1) 59,625,618.14 Jt, K b
FFHIEK 10.75%. FEVIHRBON S 1 o g KO A F) ATRRAR PR A SR AR AL T IR S



layn FEAR SR AR A TR A 7]

(L B3 R B , SR 2 B E U4 b R R R SRR R Y 2% vt 58 0 55 T s 1R 47 FRD %
W S

WAE R, ARSI 2,881,829,452.71 J6, HARA HAKIIR/-8.88%, JH)E
F R AR BRI &AL 1,817,566,981.75 7T, HARE IR K 1.52%.

SH%, MFSUAERESWEINEIZ AT 2021 FLEERENEFFE
AR ATBOEMA P ERE S RUE, IRl NS E S . e T A E
SEBRIG oL, AR RICE. ST R B K8 .«

PEAITE HLE 2 [ R H FE T BT ER M (www.cninfo.com.en) ] 2021 4
PAEFE RS 200), URTIET (PEUEZFRD) . GIEZRER) FE 5

(www.cninfo.com.cn) ] (2021 FFFFEEREME) (AT 2021-064).

2. WM 3 EFAE. 0 BN 0 EFMHEYCED (2021 4FHEFEHER
SRS LR ERFR TR ED.

R CETARMEIR I3 2 5—— b A m) SEE B BT F 1) a8 22
RO CRIREZRAE G B i ARG EE 51) S (A R 324 51 68 J | )
L RINE, ~a)55EHE 2021 5 [ SR R S A7 IS Ll B L HEAT 1
%A .

S, WP AW 2021 G4 BE 5 B & AU S A6
UEHS S FERYINE SR AE 5y ok TSR SR R B F A OCHUE , 2021 AR SR AR %
AT G PG LS LR TE U ARRT .

VR 25 LI H T8 F BRI RN (www.cninfo.com.cn) ) (2021 424
J&E SR BE AT TR SR B S T 100 2 TR 7 )

IS

HEMOR B ALV R 0 A PR 2w S
O —%)\A=+/\H



